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Q1. In an application to estimate the mean number of miles that downtown employees commute to work
roundtrip each day for two different companies, the following information is given:
n =20, %,=4.33, §,=3.50and n,=10, x,=3.75, §, = 5.50then:

a a. Obtain a 95% confidence interval for the difference between the truth population means.
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[_‘2) b. State the necessary two assumptions needed to construct the C.Iin part(a)
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Q2. The proportion of parts in an inventory that are outdated and no longer useful is thought to be 0.22.
To check this, a random sample of n = 150 parts is selected and 30 are found to be outdated. Based upon
this information,
‘ L l a. Find 98 % confidence interval for the true proportion.
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b. Determine how many items must be sampled to obtain a confidence interval estimate for the
population proportion if we want the error not be more than + 0.03 and confident 90%
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